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HER 416 5/21 6/14 7/19 8/21 9/20 10/17 11/21 12/20 =
N ISR Ba/om®| epm |Bg/om?| cpm |Ba/em®| cpm |Ba/em®| cpm |Ba/em®| com |Ba/em?| cpm |Basem®| cem |Basem?| com |Basem?| cem |Ba/em?® Ba/em’® | com | Ba/em?®| cpm
1| EPIEE{RAAT <092 70 | <092 90 |<092| 80 |<092| 80 |<092| 80 |<092( 80 |<os9| 80 |<os9| 80 |<089| 80
2| AiBI B IRAEAT <092| 70 |<092| 80 |<092| 80 |<092| 80 |<092| 70 |<092| 80 |<089| 80 |<089| 70 |<089| 80
3| BB AL HTYT <092 70 | <092| 90 |<092| 80 |<092| 70 |<092| 80 |<092| 70 |<089| 80 |<089| 80 |<089| 80
A BEVREILRTYT <092| 80 |<092( 70 |<092| 70 |<092| 70 |<092| 80 |<092| 70 |<089| 70 |<0s9| 80 |<089| 70
5[ Tu7 €092| 70 | <092 80 |<092| 80 |<092| 80 |<092| 80 |<092( 70 |<089| 70 |<089| 80 |<089| 70
6| Rt 4— (A BT ERTU7 <092 80 |<092| 80 |<092| 80 |<092| 80 |<092| 80 |<092| 80 |<089| 80 |<o089| 80 |<089| 80 .
7| FiER <092| 80 |<o89| 80 |<os9| 80 |<os9| 80
8| BT HED <092 90 |<089( 90 |<os89( 80 |<089| 80
9| HOR YR 538 <092| 90 |<089| 80 |<089| 70 |<089| 80
10(HKBEE R BHTE <092 | 70 | <092 70 |<092| 70 |<092| 70 |<092| 80 |<092( 90 |<089| 90 |<o89| 80 |<089| 70
11| B8R RERT)7 <092| 70 | <092 70 |<092| 70 |<092| 80 |<092| 80 |<092( 80 |<089| 80 |<089| 80 |<089| 70
12(6F [EEARIKRAAT <092| 80 |<092| 80 |<092| 70 |<092| 80 |<092( 70 |<092| 70 |<089| 80 |<o89| 80 |<089| 70
13|26 BHESHRKRARTAT <092| 70 |<092| 80 |<092| 80 |<092| 80 |<092| 70 |<092( 70 |<089| 70 |<089| 70 |<089| 80
14| #EM R <092| 70 |<092| 80 |<o92| 80 |<092| 70 |<092| 80 [<092| 80 |<os9| 70 |<os9| 8o |<oss| 70
15| JAEASTHE SR 55 — 1R 53 Bk <092| 80 |<092( 70 |<092| 80 |<092| 70 |<092( 80 |<092( 80 |<089| 70 |<089| 70 |<089| 70
16| JAEAS T HEER S — 1R R AR <092| 80 |<092| 70 |<092| 80 |<092| 80 |<092| 70 |<092| 80 |<o89| 80 |<089| 80 |<089| 80
17| 8P S8 2— KRR <092 80 |<092( 70 |<092| 70 |<092( 70 |<092| 80 |<092| 80 |<089| 70 |<089| 80 |<089| 80
18 ShdHLEERAETYT <092 | 80 |<092| 80 |<092| 70 |<092| 80 |<o92| 80 |<os92| 80 |<oss| so |<oss| 70 |<os9| eo
19|hREZRBEIIT €092| 70 |<092( 70 |<092| 70 |<092| 80 |<092| 80 |<092| 80 |<089| 80 |<089| 80 |<089| 70
20 (RFAFT DL e R E AN L SGERE <092| 80 |<092| 70 |[<092| 70 |<092| 70 |<092| 80 |<0.92| 70 |<089| 80 |<089| 80 |<089| 70
21 |ALPSE{H 3 HAFTAIT <092| 80 |<092( 80 |<089| 80 |<089| 70 |<089( 80
22| (AR AR LR EEERFADEESSE <092| 80 |<092| 70 |<0.92| 80 |<0.92( 70 |<092| 70 |<092| 70 |<089| 70 |<089| 80 |<089| 70
3| REREEMHEAQD €092 | 70 |<092( 70 |<092| 80 |<092| 70 |<092( 70 |<092| 70 |<089| 70 |<089| 80 |<089| 80
24| EREZHAENEAD €092 70 |<092| 70 |[<092| 70 |<092| 70 |<092| 70 |<092| 80 |<089| 70 |<089| 70 |<089| 70
25 EEWATRESTY7 <092| 80 |<092| 70 [<092| 70 |<092( 80 |<092| 80 |<092| 80 |<089| 70 |<089| 70 |<089| 70
26| REREEMHA O] <092| 80 |<092| 70 |<092| 80 |<092| 80 |<092| 80 |<os2| 80 |<oso| 80 |<ose| so |<ose| a0
271 ~4SHHAEBRERYT —F €092| 70 |<092| 70 [<092| 80 |<092( 70 |<092| 80 |<092| 80 |<089| 70 |<089| 70 |<089| 70
28|1~4SPPRIKBEYERYS—H <092 80 |<092( 80 |<092| 80 |<092| 80 |<092| 70 |<092| 80 |<089| 80 |<o089| 70 |<089| 70
29[22 )T 7 ER SRR <089| 80 |<089| 70 |<089| 80
30| EEBREES—H <092| 80 |<092( 80 |<092| 70 |<0.92| 80 |<092| 80 |<092| 80 |<089| 70 |<o89| 80 |<089| 80
N |1/ 25FMRER S — <092| 80 |<092( 80 |<092( 70 |<092| 80 |<092( 80 |<092| 80 |<089| 80 |<089| 80 |<089| 80
32|55 —E R ERTEEHIE <092 80 |<092( 80 |<092| 80 |<092| 70 |<092| 80 |<092| 80 |<089| 80 |<089| 70 |<089| 70
33|5/684—E AREADMN €092 70 | <092 70 |<092| 70 |<092| 70 |<092( 70 |<092| 80 |<o89| 80 |<os9| 70 |<os9| 70
34|65 H4—E U REXYIRIHA ORTER <092 80 |<092| 70 |<092| 70 |<092| 70 |<092| 70 |<092| 80 |<089| 70 |<0.89| 80 | <089 70
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R2E B TMRIE : 8. 90E-01 Bg/cm? \l
MER 416 5/21 6/14 7/19 8/21 9/20 10/17 11/21 12/20 % =
o RITEIEAT Ba/ert | com |Ba/ent’ | cpm [Ba/ome| com |Ba/em?| com |Basent| com |Basem?| com |easent| cpm Ba/om?| cpm |Ba/em®| com |Ba/on? cem | Ba/em®| com
35|65 HT/BRIEEE 5 €092 80 [<092| 70 |<092| 70 |<092( 80 [<092| 70 |<092| 80 |<oss| so |<oso| so |<oss| g0
36 [LEFEA O EF/S—b <092| 80 |<092| 90 [<092( 80 |<092( 80 [<092| 80 [<092| 80 |<o0ss| 90 |<oso| 90 |<oss| 90
37 | BRSNS R R E AT <092| 80 |<092| 70 |[<092( 80 |<092| 70 [<092| 70 [<092| 70 |<089| 80 |<oss| s0o |<ose| so
38| L HSIBIREARRAT <092| 80 |<092| 70 |[<0.92| 80 |<092| 80 |<092| 80 |<092| 80 |<os9| 80 |<oss| so |<oss| 90
39 |18 E R BRI R BT <092| 80 |<092| 80 [<092| 80 |<092( 70 [<092| 70 [<092| 70 |<089| 80 |<oso| 70 |<oso| g0
40| 7= T vk Nol (BAEASHEAD) | <092| 70 [<092| 70 |<092| 70 |<092| 80 |<092] 80 <092 | 80 |<089( 80 |<089( 80 | <089 80
N|TV—2TvF No2(HRAKEASE) <092| 80 [<092| 70 [<092| 70 |<0.92| 80 |[<092| 80 |[<092:| 80 |<o89| 70 |<oss| so |<ose| so
42|17)—=rTuF No3(HIAELHIEME) |<092| 80 [<092| 70 |<092| 80 [<o92| 80 |<os2] 80 |<os2 80 |<089( 70 |<o89( 70 |<089| 70
43|17U—Tud Nod(EAEHIBILA) |<092| 70 [<092| 80 |<092| 80 |<092| 80 [<os02| 70 <092 80 |<089| 80 |<089| 70 | <089 80
4| TV—=2TuF NoS(RRABEIEL®E) |<002| 70 [<092| 70 |<092| 70 | <002 80 [<092| 70 €092\ 70 |<089( 70 |<089( 80 |<089| 80
45|7U—UTuH Nob6(RBAEEIBM®R) | <092| 80 |<092| 70 |<092| 80 [<o92| 80 |<o92] 70 <092 | 80 |<089( 70 |<089| 80 |<089| 80
46| TU—U T ¥ Nol(IRAFTY) <092| 80 |<092| 70 |<092| 70 |<092( 70 [<092| 70 [<092| 70 |<089| 70 |<0so| 70 |<oso| 8o
47| TU—2TvF No8(HRIRAKE) <0.92| 70 |<092| 80 |<092( 70 |<092| 70 |<092| 80 |<092| 70 -|<089| 70 |<oso| so |[<oss| a0
48| =T wF No9 (A KHE) €092 70 |<092| 70 |<092| 80 |<092( 80 |<092( 70 |<092| 70 |<089| 8o |<oso| 70 |<oss| so
49| TU—2FuF NolO(HARAFTY) <0.92| 80 |<092| 70 [<092| .80 |<092| 70 |<092| 70 |<092| 70 |<08s| 70 |<oso| 70 |<ose| 70
50| U—>TwAd Nodl(3RERAKE) <0.92| 70 |<092| 80 [<092| 70 |<092| 80 |<092| 80 |<092| 80 |<o089| 80 |<oso| so |<osa| 70
51(5U—>FvF Nol2($IRAKE) <092| 70 [<092| 90 |<092( 80 |<092| 80 |<092| 80 [<092| 80 |<089| 8o |<ose| so |<ose| 70
52(71)—>Fu¥ Nol3(RBRAFETY) <092 70 |<092| 80 .|<092| 80 |[<092| 70 |<092| 70 |<092| 70 |<089| 8o | <os9 70 |<o89| 70
53[71)—2TuF Nold(BRAFTY) <092| 70 |<092| 80 |<092| 70 |<092| 80 |<0.92| 80. |<092| 80 |<o0so| 70 |<ose| 70 |<o0s9| 70
54| —2TwF No.l5(HREAKE) 092| 70 |<092( 70 |<092| 70 [<092| 80 |<092| 70 |<092| 80 |<os9| 80 |<oss| 70 |<oso| so
55| 7 )L—FvHF No. 1(EKE) <092| 80 [<092| 80 |[<092| 70 |<0.92| 80 |<092| 80 [<092| 80 |<o089| 80 |<ose| so [<oso| so
56| T)L—F v No. 2(FL—F1%) <092| 80 |<092| 70 |<092| 80 |<0.92| 70 |<092| 80 [<092| 80 |<o089| 8o |<ose| s0o |<oso| 70
57|T—TFv¥ No. 3(FFVY) €092 80 | <092| 70 |<092| 70 |<092| 70 |<092| 70 [<092| 70 |<0s9| 70 |<osa| 70 |<oss| 70
58| T IL—TwH No. 4(FFY) €092| 70 |<092| 70 |<092| 70 |<092| 70 |<092| 70 [<092| 80 |<o0s9| 70 |<oso| 70 |<o0s9| g0
59| TL—FyE No. 5(FFY) €092 70 |<092| 70 |<092| 70 |<092| 70 |<092| 80 |<092| 80 |<o0s9| 80 |<oso| so |<oss| g0
60| T L—FwH No. 6(FTVY) <092| 80 |<092| 70 [<092| 70 |<092| 70 |<092| 70 |<092| 70 |<0s9| 80 |<ose| 70 |<oss| s0
61| TL—Fv¥ No. 7(FFY) 092 70 [<092| 70 |<092| 70 |<092| 70 |<092| 70 |<092| 70 |<089| 70 |<os9| 70 |<oso| g0
62| TL—Fv¥ No. 8(FFVY) €092| 70 |<092| 80 |<092| 70 |<092| 70 [<092| 70 [<092| 70 |<089| 70 |<oso| so |<os9| 70
63| TL—FTwH No. 9(JL—F¥¥) <092| 80 |<092| 80 |<092| 80 |<092( 80 |<092| 70 |<092| 80 |<0s89| 8o [<oso| so |<ose| so
64| TL—F ¥ No. 10(FL—Fv4) <0.92| 80 [<092| 80 |<092| 80 |<092( 80 |<092| 80 |<092| 80 |<os9| 70 |<o0s9| 70 |<0s9| 70
65| T IL—TFT v No. 11(F¥Y) €092]| 70 |<092| 70 |<092| 80 |<0.92| 80 |<092| 80 |<os92| 80 |<o0so| 70 |<ose| so |<oss| 70
66| T L—FwE No. 12(F¥Y) <092| 70 [<092| 70 |<092| 80 |<092| 80 [<092| 80 |<092| 80 |<089| 70 [<oss| so [<ose| 70
67 (BIRBIERSTU7 No. 1 (EKRE) » <089 80 |<089| 70 |<os89| 80
68| {HIRSIERETUT No. 2 (FKHE) <089 | 70 |<0.89| 70 |<089| 80
69 BIRSAIBRETU7 No. 3 (ERE) <089| 70 [<089| 80 |<089| 80
T0[BIRSAHE RS TU7 No. 4 (FTY) <089 70 |<089| 70 |<089| 70
v




